



St. Louis County, Minnesota

Date of Report: 5/1/2025 1:25:53 AM

		General Detail	6					
Dama et ID.	4.44 0000 00000	General Detail	5					
Parcel ID:	141-0020-02030							
		Legal Description I	Details					
Plat Name:	HIBBING							
Section	Town	Township Range Lot B						
15	57	=•		-	-			
Description:	E1/2 OF NE1/4 E	EX 9.18 AC ALONG S LINE						
		Taxpayer Deta	ils					
Taxpayer Name	PORTEOUS JAM	IES R						
and Address:	11123 DUPONT F	RD						
	HIBBING MN 557	746						
		Owner Details						
Owner Name	PORTEOUS JAM							
Owner Name	T OITTEOUG SAIN	Payable 2025 Tax Su	ımmarv					
	0005 No. T-	•	y	Ф0.000.00				
2025 - Net Tax				\$2,008.00				
	2025 - Specia		\$0.00					
	\$2,008.00							
		Current Tax Due (as of	4/30/2025)					
Due May 15 Due October 15			5	Total Due				
2025 - 1st Half Tax	\$1,004.00	2025 - 2nd Half Tax	\$1,004.00	2025 - 1st Half Tax Due	\$1,004.00			
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,004.00			
2025 - 1st Half Due	\$1,004.00	2025 - 2nd Half Due	\$1,004.00	2025 - Total Due	\$2,008.00			

Parcel Details

Property Address: 11123 DUPONT RD, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: PORTEOUS, JAMES

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
201	1 - Owner Homestead (100.00% total)	\$37,200	\$54,400	\$91,600	\$0	\$0	-			
111	0 - Non Homestead	\$73,100	\$0	\$73,100	\$0	\$0	-			
	Total:	\$110,300	\$54,400	\$164,700	\$0	\$0	1281			





St. Louis County, Minnesota

Date of Report: 5/1/2025 1:25:53 AM

Land Details

Deeded Acres: 70.82 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

ot Deptn:	0.00							
ne dimensions shown are no	ot guaranteed to be sur	vey quality. A	Additional lo	t information can be	e found at ions, please email PropertyTa	ax@stlouiscountymn.cov		
ps.//apps.stiouiscountymm.	gov/webi latsiiiailie/iiii			etails (HOUSE		ax @ stiouiscouritymin.gov		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
HOUSE	1928	86	0	1,035	U Quality / 0 Ft ²	1S+ - 1+ STORY		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	10	16	160	BASEMENT			
BAS	1.2	25	28	700	BASEMENT			
CW	1	6	7	42	FOUNDATION			
Bath Count	Bedroom Cour	nt	Room (Count	Fireplace Count	HVAC		
1.0 BATH	3 BEDROOMS	i	5 ROO	MS	-	CENTRAL, WOOD		
Improvement 2 Details (GARAGE)								
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish Style Code & De			
GARAGE	1961	1,09	92	1,092	-	DETACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	26	42	1,092	FLOATING SLAB			
Improvement 3 Details (SAWMILL)								
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Des								
STORAGE BUILDING	1982	2,44	48	2,448	-			
Segment	Story	Width	Length	Area	Foundation			
BAS	0	20	20	400	PIERS AND FOOTINGS			
BAS	1	32	64	2,048	PIERS AND FOOTINGS			
	In	proveme	ent 4 Deta	ils (TRUCK ST	OR)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
STORAGE BUILDING	1975	80	0	800	-	-		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	16	50	800	POST ON GROUND			
LT	0	16	50	800	POST ON GR	ROUND		
Improvement 5 Details (SLAB SHED)								
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des		
STORAGE BUILDING	1975	1,2		1,216	-			
Segment	Story	Width	Length	Area	Foundati	on		
					POST ON GROUND			
BAS	1	8	32	256	POST ON GF	ROUND		





St. Louis County, Minnesota

Date of Report: 5/1/2025 1:25:53 AM

		Improver	nent 6 Detail	s (ST OPEN)					
Improvement Type	Year Built	Main Flo		ss Area Ft ²	Basement Finish	Style C	ode & Desc.		
STORAGE BUILDING		5,344 5,344 -				,	-		
Segment	Story	Width	Length	Area	Foundation				
BAS	0	20	24	480	POST ON (GROUND			
BAS	0	64	76	4,864	POST ON (GROUND			
		Improve	mont 7 Data	ile (CT OVO)					
Improvement Type	Year Built	Improve Main Flo	ment 7 Deta	ss Area Ft ²	Decement Finish	Style C	ada ⁰ Daga		
Improvement Type STORAGE BUILDING		Main Fio		64	Basement Finish	Style C	ode & Desc.		
Segment		Width	Length	Area					
BAS	0	8	8	64	POST ON C				
BAO						JI COND			
		-		(GEN SHED)					
Improvement Type	Year Built	Main Flo	or Ft ² Gro	ss Area Ft ²	Basement Finish	Style C	ode & Desc.		
STORAGE BUILDING		48		48	-		-		
Segment	•	Width	Length	Area	Founda				
BAS	0	6	8	48	POST ON (SROUND			
		Improve	ment 9 Deta	ils (ST 8X8)					
Improvement Type	· · · · · · · · · · · · · · · · · · ·								
STORAGE BUILDING	0	64		64	-				
Segment	Story	Width	Length	Area	a Founda				
BAS	0	8	8	64	POST ON GROU				
	S	ales Reported	to the St. Lo	uis County A	uditor				
Sale	Date		Purchase Pri	ce	CRV Number				
06/1	996		\$8,200			110070			
		As	sessment H	istory					
	Class Code	Land	Bldg	Total	Def Land	Def Bldg	Net Tax		
Year	(Legend)	EMV	EMV	EMV		EMV	Capacity		
	201	\$43,200	\$60,700	\$103,90	00 \$0	\$0	-		
2024 Payable 2025	111	\$91,400	\$0	\$91,40	0 \$0	\$0	-		
	Total	\$134,600	\$60,700	\$195,30	00 \$0	\$0	1,581.00		
	201	\$43,200	\$56,200	\$99,40	0 \$0	\$0	-		
2023 Payable 2024	111	\$91,400	\$0	\$91,40	0 \$0	\$0	-		
	Total	\$134,600	\$56,200	\$190,80	00 \$0	\$0	1,625.00		
	201	\$36,200	\$40,200	\$76,40	0 \$0	\$0	-		
2022 Payable 2023	111	\$70,300	\$0	\$70,30		\$0	-		
	Total	\$106,500	\$40,200	\$146,70		\$0	1,163.00		
	201	\$33,200	\$38,400	\$71,60	0 \$0	\$0	-		
2021 Payable 2022	111	\$61,100	\$0	\$61,10		\$0	-		
20211 ayabic 2022	Total	\$94,300	\$38,400	\$132,70		\$0	1,041.00		
	IOIAI	ψυ-1,000	ψ30, 1 00	Ψ102,7	Ψ	Ψ	1,041.00		





St. Louis County, Minnesota

Date of Report: 5/1/2025 1:25:53 AM

Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV			
2024	\$2,120.00	\$0.00	\$2,120.00	\$122,303	\$40,203	\$162,506			
2023	\$1,712.00	\$0.00	\$1,712.00	\$92,113	\$24,223	\$116,336			
2022	\$1,574.00	\$0.00	\$1,574.00	\$81,020	\$23,040	\$104,060			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.